Homework 2 MATH-1400-E531 2013 April 5

2.88.A Here is the graph of the cost function:
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3.3.41 First,
22 + bx

=0
z—3

exactly when 22 4+ 52 = 0, in other words when x is 0 or —5. Next, the expression is undefined exactly
when x — 3 = 0, in other words, when z is 3.

When z < —5 (say when = = —6), the statement is false. When —5 < z < 0 (say when z = —1), the
statement is true. When 0 < x < 3 (say when x = 1), the statement is false. Finally, when = > 3 (say
when x = 4), the statement is true.

Therefore,

-5 <xr<0orax>3.

In other words, = belongs to the set
(=5,0) U (3,00).

3.3.81

5+ 0.63z for < 50,
5+ 0.63(50) + 0.45z  for = > 50.

¢ This function s is continuous, because the two pieces join together.

a When S(z) = {

It's not smooth, however, because the pieces join in a corner.
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